Example: Evaluation of arithmetic
expressions (Postfix notation)

Infix Postfix
A + B A B +

(x=y)/(u+v)

(x-y)(urv) /

INFIX POSTFIX

a+b ab+

(x-y+2z2) Xy-z+

(x-y-2)/(u+v) Xy-z-uv+/
In general:

A operator B

8-

A B ogperator

Xy—z—-uv+/

x: push(x)
y: push(y)

Xy—-z—-uv+/

x: push(x)
y: push(y)
— 1pop() (we gety)




Xy—z-uv+/

x:  push(x)

y: push(y)

— :pop() (we g}ty_)’ =t
)

pop() (we get

Xy—z-uv+/

x: push(x)
y: push(y)

- :pop() (we gig =t
)

pop() (we get push(t)

z: push(z)

Xy—z-uv+/

x:  push(x)
y:  push(y)

— 1pop() (we gi& =t
)

pop() (we get push(t)

z: push(z)
= 1 pop() (we get z)

Xy—z-uv+/

x:  push(x)
y:  push(y)

~ pop() (we g}tY_{ =t
)

pop() (we get push(t)

z: push(z)
— : pop() (we get 2)

pop() (we get t)




Xy—-z—-uv+/

Xy—-z—-uv+/

x: push(x) x: push(x)
y: push(y) y: push(y)
= 1pop() (we git y) —t = 1pop() (we git ) —t
pop() (we get %) push(t) pop() (we get %) push(t)
z: push(z) z: push(z)
— 1 pop() (we get z) " — : pop() (we get z)
pop() (we get 1) —¢ pop() (we get 1) -
push(t’) t push(t’)
u: push(u) u: push(u)
v: push(v) v: push(v)
+ :pop() (we getv)
Xy—-z—-uv+/ Xy—-z—-uv+/
x: push(x) ;(, EE::E;)
y:  push(y) :
— 1pop() (we git y) =t — 1pop() (we git y) =t
pop() (we get %) push(t) pop() (we get %) push(t)
z: push(z) z: push(z)
= :pop() (we get 2) — :pop() (we get z)
pop() (we get t) —p pop() (we get 1) —p
push(t’) push(t’)
v: push(v)

+ :pop() (wegetv
pop() (we get u) e

v: push(v)
+ :pop() (we get :}
pop() (we getu —¢

/ :pop() (we gett’)
Result =t"/t”’




